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ENGLISH

Directions for Q1 to Q5: Read the passages given
below and answer the questions that follow it,
using the options provided.

When you imagine a desert, you probably think of
a very hot place covered with sand. Although this
is a good description for many deserts like the
Sahara in Africa, Earth's largest desert is actually
avery cold place covered with ice i.e. Antarctica.
For an area to be considered a desert, it must
receive very little rainfall. More specifically, it
must receive an average of less than ten inches of
precipitation ~ which can be rain, sleet, hail, or
snow — on the ground every year. Antarctica, the
coldest place on earth, has an average
temperature that usually falls below the freezing
point. And because cold air holds less moisture
that warm air, the air in Antarctica does not hold
much moisture. This is evident in the low
precipitation statistics recorded for Antarctica.
For example, the central part of Antarctica
receives an average of less that 2 inches of snow
every year. This coastline of Antarctica receives a
little bit more- between seven and eight inches a
year. Because Antarctica gets so little
precipitation every year, it is considered a desert.

Q1. The main purpose of the first paragraph is to
(A) Deny a common belief.
(B) Introduce an argument,
(C) Provide a brief history.
(D) accept a conclusion.

Q2. The best title for this passage would be:
(A) Earth’s Many Deserts.
(B) Antarctica: The Coldest Place on Earth.
(C) A Desert of Ice.
(D) Unusual Blizzards.

Q3. Based on the information in the passage,

what characteristic does the Sahara share
with Antarctica?
(A) Low temperatures
(B) High temperatures
(C) Frequent blizzards
(D) Low precipitation

(3)

Q4. As used in the passage, which is the best
definition for ‘precipitation’?
(A) Moisture in the air that falls to the
ground
(B) Any type of weather event
(C) Weather events that only happen in
very cold areas
(D) A blizzard that occurs in areas with
limited snowfall.

Q5. It can be understoed that the word ‘this” in
the clause ‘This is evident........ ’ means that
(A) Africa has the lowest precipitation.
(B) Air surrounding a tropical island holds
less moisture that alr In Antarctica.
(C) Air in Sahara holds more moisture that
alr in Antarctica.
(D) Air at the mountains is typically colder
that air at the beach.

Directions for Q6 to Q7: Choose the most
suitable passive voice conversions of the given
sentences:

Q6. They were laughing at the clown.
(A) The clown is laughed at them.
(B) The clown was laughed at by them:
(C) The clown was being laughed at by
them.
(D) The clown has been laughed at by them.

Q7. Had he broken his elbow in the accident?
(A) Had been his elbow broken by him in

the accident?

() Had his elbow be broken in the
accident?

(C) Had his elbow been broken in the
accident?

(D) None of these
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Directions for Q8 to Q12: Read the following
passages and answer the questions that follow:
Etiquette is the unwritten code that governs
social behaviour. Etiquette reflects formulas of
conduct in which soclety or tradition have
invested. Western etiquette tells people to greet
friends and acquaintances with warmth and
respect, refrain from insults and curiosity, offer
hospitality equally to guests, wear clothing suited
to the occasion, talk properly, eat neatly and
quietly, avoid disturbing others, follow the rules
of an organization, arrive promptly when
expected, comfort the bereaved, and respond to
invitations promptly.

Violations of etiquette can cause public disgrace,
and in private, hurt individual feelings, create
misunderstandings or real grief and pain.

Some people feel etiquette to be an unnecessary
restriction of freedom of personal expression,
However, wearing pajamas to a wedding in a
cathedral may be an expression of the guest’s
freedom, but may also cause the bride and groom
to suspect that the guest is expressing
amusement or disparagement towards them and
their wedding. )

Etiquette is dependent on culture; what is
excellent etiquette in one society may shock in
another. Etiquette can vary widely between
different cultures and nations. In China, a person
who takes the last item of food from a common
plate without offering it to others at the table is
seen as a glutton whilst in most European
cultures he/she is expected to eat all the food
given to them, as a compliment to the cooking. In
some societies, it is considered disgusting to eat
with the left hand, and left handed individuals are
sometimes forced to use their right hand.
Recently, the Internet has created Netiquette,
which governs the drafting of e-mail, rules for
participating in online forums, and so on.

(4)

Q8. Choose the most appropriate title for this
passage.
(A) ‘Etiquettes and Manners’
(B) ‘Western Etiquette’
(C) ‘Etiquette and Culture’
(D) ‘Importance of Culture’

Q9. Fill in the most appropriate word:
Social behaviour by the unwritten
code, Etiquette.
(A) decides
(C) shows

(B) is governed
(D) is shown

Q10. The etiquette should not be broken
because .
(A) It may cause public disgrace
(B) It may cause shock
(C) It may hurt feelings
(D) All of these

Q11. Etiquette and Cultureare ___
(A) Interdependent  (B) Dependents
(C) Excellent (D) Widely different

Q12. Which word in the passage means ‘insult’?
(A) Desire (B) Glutton
(C) Disparagement (D) Hospitality

Q13. How do you spell the word that means “in
opposition to a civil authority or

government”?
(A) Siditious (B) Seditious
(C) Setitious (D) Saditious

Q14. How do you spell the word that means
“someone who is unwilling to spend”?
(A) Penurious
(C) Punurious

(B) Penirious
(D) Pinurious
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Directions for Q15 to Q16: Choose the option
that best matches the analogy:

Q15. Drip : Gush
(A) Cry : Laugh (B) Curl : Roll
(C) Stream : Tributary (D) Dent : Destroy

Q16. Topaz: Yellow

(A) Amethyst : Purple (B) Jeweler : Clarity
(C) Sapphire : Red (D) Diamond : Carat

Directions for Q17 & Q18: Choose the correct
one-word  substitution for the given
word/sentence:

Q17. A style in which a writer makes a display of
his knowledge
(A) Pedantic
(C) Pompous

(B) Verbose
(D) Ornate

Q18. One who loves mankind is called
(A) Optimist (B) Philanthropist
(C) Optometrist (D) Truant

Directions for Q19 to Q20: Choose the correct
option for the given proverb/idiom:

Q19. To cater a tartar

(A) To trap wanted criminal with great
difficulty

(B) To catch a dangerous person

(C) To meet with disaster

(D) To prepare and serve a dish called steak

Q20. To cry wolf
(A) To listen eagerly
(B) To give false alarm
(C) To turn pale
(D) To keep off starvation

Directions for Q21 to Q22: Choose the option
which best express the given sentence in
Indirect/Direct speech:

Q21. She exclaimed with sorrow that it was a
very miserable plight.
(A) She said with sorrow, “What a pity it is.”
(B) She said, “What a mystery it is.”
(C) She said, “What a miserable sight it is.”
- (D) She said, “What a miserable plight it is.”

()

Q22. “Are you alone, my son?” asked a soft voice
close behind me.
(A) A soft voice behind me asked if | was
alone.
(B) A soft voice said to me are you alone
son.
(C) A soft voice from my back asked it | was
alone.
(D) A soft voice asked that what | was doing
there alone.

Directions for Q23 to Q24: Select the correctly
punctuated sentence:

Q23.

(A) Spain is a beautiful country; the
beache’s are warm, sandy and spotlessly
clean.

(B) Spain is a beautiful country: the beaches
are warm, sandy and spotlessly clean.

(C) Spain is a beautiful country, the beaches
are warm, sandy and spotlessly clean.

(D) Spain is a beautiful country; the beaches
are warm, sandy and spotlessly clean.

Q24.
(A) Paul’s neighbours were terrible; so his
brother's friends went round to have a
word.
(B) Paul’s neighbours were terrible: so his
brother's friends went round to have a
word.
(C) Paul's neighbours were terrible, so his
brother’s friends went round to have a
word.
(D) Paul's neighbours were terrible so his
brother’s friends went round to have a
word.

Directions for Q25 to Q27: Choose thé correct
synonym of the given word:

Q25. Desolate
(A) Fertile (B) Barren
(C) Intact (D) Bright
Q26. Pacify
(A) Null (B) Captive
(C) Calm (D) Remit
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Q27. Emulate
(A) Imitate
(C) Differ

(B) Enable
(D) Neglect

Directions for Q28 to Q31: Choose the correct
antonym of the given word:

Q28. Audacious

(A) Risky (B) Bold

(C) Reckless (D) Cautious
Q29. Plausible

(A) Irrational (B) valid

(C) Logical (D) Reasonable
Q30. Vivacity

(A) Zeal (B) Vigorous

(C) Fatigue (D) Acknowledge
Q31. Insipid

(A) tasty (B) stupid

(C) discrete (D) feast

Directions for Q32 to Q33: Choose the most
appropriate one word substitution for the given
description:

Q32. Persons living at the same time -
(A) Colleagues (B) Contemporaries
(C) Ancestors (D) Forefathers

Q33. Study of birds-
(A) Virology
(C) Omithology

(B) Entomology
(D) Anthropology

Directions for Q34 to Q38: Read the passages
that follow and choose the correct options that
can replace the underlined portions.

Grandma has Alzheimer’s disease. In other words,
she is Q34. The one Q35 symptom of her disease
is that her memory is very Q36. She cannot
remember things or gets them all Q37 up. So she
forgets where she has kept things and often will
be busy is a Q38 search for them.

Q34.
(A) apathetic
(C) sensitive

(B) senile
(D) bizarre

(6)

Q35.

(A) cheerless (B) disagreeable

(C) glaring (D) credible
Q36.

(A) good (B) genuine

(C) excellent (D) bad
Q37.

(A) confused (B) mixed

(C) linked (D) arranged
Q3s. .

(A) reluctant (B) frantic

(C) elaborate (D) discreet

Directions for Q39 to Q43: Read the passages
that follow and choose the correct options that
can replace the underlined portions.

The rainforest gives us so much, and has so many
possibilities, yet we Q39 and burning it down.
Animals, plants and insects Q40 at the rate of
1,000 species per year. If the rainforest keeps
Q41 at the current rate, 10,000 species will be
wiped out per year. If we want to save the earth,
we Q42 with the rainforests. They are the
connection between man and nature. The
rainforests are the most valuable resources we

Qa3.

Q3s9.
(A) cleared
(B) are being cleared
(C) are clearing
(D) have been cleared

Q40.
(A) eradicated
(B) have been eradicated
(C) were eradicated
(D) are being eradicated

Qa1.
(A) been destroyed
(B) is destroyed
(C) being destroyed
(D) destroyed
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Qa2.

(A) must start (B) must be started
(C) start (D) started
Q43.
(A) has (B) have
(C) are having (D) have had

Directions for Q44 to Q48: Read the following
passage carefully and answer their related
questions by choosing correct options.

There seem to be just two ways of perceiving
time: some people complain about never having
any, others are always looking for ways to kill
time. But time is actually very fairly distributed.
Everyone gets 60 minutes per hour and 24 hours
per day, net. It is only the daily tasks that are
distributed unequally. They make the day too
short for some people and too long for others.
Just imagine a pupil who is handed his lessons for
the week all in one lump by the teacher: “By
Saturday you have to do 100 maths problems,
read 20 pages in your reading book, write two
dictations and a composition, and know all about
the geography of the North Sea and about the
biblical flood. You must also learn two songs,
participate in sports and find time for needlework
and drawing.” The pupil will probably be shocked
by this mountain of work and prefer to stay in
bed pretending to have flu. However, divided
according to subjects and lessons, the weekly
workload is not as intimidating. The pupil sees
that all the subjects can be covered — and there is
free time as well.

Q44. What ‘mountain of work’ does the writer
refer to?
(A) Only one hundred maths problems
(B) Work that has be done on Saturday
(C) Daily tasks
(D) Work to be done that week

Q45. The phrase ‘all in on lump’ means
(A) Herculeus task
(B) all together ata go
() Difficult work
(D) mountain of work

(7

Q46. Why does the author use ‘actually’ in the
sentence ‘But time is actually very fairly
distributed'?

(A) Because everyone gets 60 minutes per
hour and 24 hour per day net.

(B) Because all have the same time at their
disposal.

(C) Because daily tasks are distributed
equally.

(D) Because people complain that they get
or don't get time.

Q47. Which word is opposite in meaning to
intimidating as used in the passage?
(A) dominating (B) fearful
(C) uneasy (D) encouraging

Q48. When does the pupil see that all the
subjects are covered and he has free time?
(A) When he is in bed
(B) When he has flu
(C) When the work is divided
(D) When the work is less

Directions for Q49 to Q50: Replace the

underlined with synonymous options.

Q49. Being Inquisitive, | ran to where the crowd

had gathered.
- (A) curious (B) eager
(C) observant (D) heroic

Q50. In his wrath, the king ordered the knight to
be executed.
(A) judgment
(C) sorrow

(B) opinion
(D) anger
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GENERAL KNOWLEDGE

Q51. Which state in India is the largest producer

of coal?
(A) Maharashtra (B) Odisha
(C) Chhattisgarh (D) Jharkhand

Q52. Which is the largest organ in the human

body?
(A) Liver (B) Heart
(C) Skin (D) Lungs

Q53. In which year did the Indian Parliament pass
the Right to Information Act?
(A) 2010 (B) 2012
(C) 2008 (D) 2005

Q54. Which country is the largest producer of silk

in the world?
(A) India (B) Japan
(C) China (D) Thailand

Q55. Which planet is known as the "Gas Giant"?
(A) Venus (B) Mars
(C) Jupiter (D) Mercury

Q56. Who wrote the famous Indian epic
“"Mahabharata"?
(A) valmiki
(C) Tulsidas

(B) Kalidasa
(D) Vyasa

Q57. In which year did India conduct its first
nuclear test?
(A) 1965
(C) 1988

(B) 1974
(D) 1998

QS8. Where is the International Court of Justice

located?
(A) Geneva (B) New York
(C) The Hague (D) Brussels

Q59. Which is the smallest bone in the human

body?
(A) Femur (B) Patella
(C) Ulna (D) Stapes

(8)
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Q60. Who is known as the "Father of the Green
Revolution" in India?
(A) Dr. M.S. Swaminathan
(B) Dr. Norman Borlaug
(C) Dr. Verghese Kurien
(D) C. Subramaniam

Q61. Who is known as the "Father of

Geometry"?
(A) Aristotle (B) Pythagoras
(C) Euclid (D) Archimedes

Q62. Who is known as the "Father of Medicine"?
(A) Hippocrates (B) Galen
(C) Aristotle (D) Avicenna

Q63. Who was the first Indian woman to win a
gold medal at the Olympics?
(A) P.T. Usha (B) Mary Kom
(C) Karnam Malleswari (D) Neeraj Chopra

Q64. Which Indian state has the longest

coastline?
(A) Maharashtra (B) Tamil Nadu
(C) Gujarat (D) Andhra Pradesh

Q65. Who wrote the famous book "Gitanjali"?
(A) Rabindranath Tagore
(B) Sarojini Naidu
(C) R.K. Narayan
(D) Bankim Chandra Chattopadhyay

Q66. Which planetin our solar system has the

most moons?
(A) Earth (B) Mars
(C) Jupiter (D) Saturn

Q67. Which country hosted the G20 Summitin

2023?
(A) United States (B) India
(C) China (D) Japan

Q68. Who is the current Chief Justice of India?
(A) Sanjeev Khanna
(B) D.Y. Chandrachud
(C) Sharad Arvind Bobde
(D) Ranjan Gogoi

(9)
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Q69. In which year did India launch the "Digital
India" initiative?
(A) 2020 (B) 2018
(C) 2016 (D) 2014

Q70. What is the full form of "UNESCO"?
(A) United Nations Educational, Scientific
and Cultural Organization
(B) United Nations Environment, Science,
and Conservation Organization
(C) United Nations Economic, Scientific, and
Cultural Organization
(D) United Nations Environmental and
Science Organization

Q71. What is the significance of "International
Yoga Day" and when is it observed?
(A) Promotes traditional exercise; observed
onJune 21
(B) Highlights physical health; observed on
July 10
(C) Advocates mental wellness; observed on
August 15
(D) Encourages outdoor activity; observed
on March 15

Q72. What does the acronym "NITI" in NITI Aayog
stand for?
(A) National Institute for Transformation of
India
(B) National Institution for Transforming
India
(C) National Integration and Transformation
Institute

(D) National Indian Transformation
Initiative

Q73. Which country hosted the 2023 FIFA
Women's World Cup?
(A) Japan
(B) Brazil
(C) Germany
(D) Australia and New Zealand

(10)
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Q74. Who is the Secretary-General of the United

Nations as of 2024?
(A) Ban Ki-moon (B) Anténio Guterres
(C) Kofi Annan (D) Jens Stoltenberg

Q75. What is the ‘National Flower’ of India?
(A) Rose (B) Lotus
(C) Jasmine (D) Sunflower

Q76. Name the country where the Amazon
rainforest is located.
(A) Brazil
(C) India

(B) Argentina
(D) Indonesia

Q77. Who won the 2023 Oscar for Best Actor?
(A) Will Smith
(B) Joaquin Phoenix
(C) Brendan Fraser
(D) Leonardo DiCaprio

Q78. Which metal is commonly known as "liquid

metal"?
(A) Mercury (B) Sodium
(C) Lead (D) Zinc

Q79. Where is the headquarters of the
International Monetary Fund (IMF)

located?
(A) Geneva (B) New York
(C) Washington, D.C. (D) London

Q80. What is the aim of the "Pradhan Mantri Jan
Dhan Yojana"?
(A) Digital literacy for all
(B) Financial inclusion and bank accounts
forall
(C) Healthcare for senior citizens
(D) Skill development for youth

Q81. Who is the current Chairperson of the
Indian Space Research Organisation (ISRO)?
(A) K. Radhakrishnan  (B) K. Sivan
(C) A. S. Kiran Kumar (D) S. Somanath

Q82. Who is known as the "Father of Indian Space
Program"?
(A) Vikram Sarabhai
(B) A.P.J. Abdul Kalam
(C) Satish Dhawan
(D) Homi Bhabha

(11)
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Q77. wAm wifivan #1 2023 F 3R g A fan

(A) fa= farg
(B) sifeF Aifa
(C) 73 =1t
(D) ferdrmel fedfian
Q78. P T ) WIT=Aa: A A1 A A S S
&
(A) T (B) @ifean
(C) dran (D) S&T
Q79. eI AT I (IMIF) 1 FeAterd i feerd &2
(A) R (B) A
(C) anfiime, A e, (D) T

QB0. "I T 8 TYAAT" T Ie7d 791 27
(A) ot F fou fefaree v
(B) it F forg feig aETA sitds @
(C) aftg Tt & fore = Taa=
(D) Zarit & fo Frer e

Q8. W1 i IFFEIE H13A (ISRO) F T899
TTT R E?
(A) 3. TUTF@H
(C) Tug. R g

(B)&. foma
(D) TE BT

Q82. "V Haftel F1FT F F% & =9 F fFy =
T &7
(A) forsm gmT
(B) T3, 3ege Fe
(C) Tty a1
(D) Bt sy
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Q83. What does "URL" stand for in web
terminology?
(A) Universal Resource Locator
(B) Uniform Resource Locator
(C) Unified Resource Link
(D) Uniform Registry Link

Q84. Who was the first Indian woman to go to
space?
(A) Sunita Williams
(C) Ritu Karidhal

(B) Anousheh Ansari
(D) Kalpana Chawla

Q85. Which Indian state is known for the Ajanta
and Ellora Caves?

(A) Maharashtra
(C) Madhya Pradesh

(B) Karnataka
(D) Gujarat

Q86. What does "NASA" stand for?
(A) National Aerospace and Space
Administration
(B) National Aeronautics and Space Agency
(C) National Aeronautics and Space
Administration
(D) North American Space Administration

Q87. Which state in India is famous for the
“Chhau" dance?
(A) Rajasthan
(C) Odisha

(B) West Bengal
(D) Maharashtra

Q88. What is the full form of "DRDO"?
(A) Defence Research and Development
Organisation
(B) Digital Research and Development
Organisation
(C) Disaster Relief and Defence Organisation
(D) Department of Research and
Development Office

Q89. In which country are the headquarters of
the Red Cross located?
(A) United Kingdom
(C) France

(B) United States
(D) Switzerland

Q90. Which state in India is famous for the
"Meenakshi Temple"?
(A) Karnataka
(C) Tamil Nadu

(B) Kerala
(D) Andhra Pradesh

(12)

Q83. ¥4 WezEel § "URL" &1 71 374 22
(A) gfradde frard sieret
(B) Ffrwi frard et
(C) afrada frard i
(D) Ffadet e foiw

Q84. Faf # i arefl Jeeh e wieen # +

(A) giftar faferam (B) Iire 3T
(C) g Hftaet (D) FeqHT TFe

QBS. WA 1 1 1 UST AT 3T AR Y Tovait
fora st e 27
(A) wETTY
(C) weg w3w

(B) FAfew
(D) Tsaa
Q86. "TET" T 1 Haed 87
(A) T wrdrere 3f sfafe o
(B) A Wi U # Tt
(C) Ui Amfrht wd stafea wemas
(D) I 7RI Safter waraT

QB7. M 1 FH | T 213" Ted & foe uftrg 22
(A) T5=H (B) qfzm et
(C) ifEm (D) HERTZ

Q88. " SR gl ® T F 7
(A) fetba fa< Uz Sawviiz s
(B) Rfree frad iz Saevilz smrdsem
(C) fesme Tt iz e snirgaem
(D) feurétiz 3t fra vz Eaawie sifra

QB9. ¥E i 1 JEaTer for 2ur 3 fiea &2
(A) g1 feren (B) 67w U= SRR
(C) wid (D) fagais

Q0. MTTd 1 ¥ |1 TU=a "wiemeft wiew & fou ufig 22
(A) FATZH (B) Fa
(C) aferg (D) 39 w2
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Q91. Which Indian state is home to the Kaziranga
National Park, known for its one-horned

rhinos?
(A) Assam (B) Meghalaya
(C) Bihar (D) Uttarakhand

Q92. What does the term "GDP" refer to in
economics?
(A) Gross Domestic Product
(B) Global Development Plan
(C) General Domestic Plan
(D) Gross Demand Product

Q93. What is the chemical formula of salt?
(A) H,0 (B) Nacl
(C)co, (D) 0,

Q94. Who is known as the "Father of Modern
"~ Physics"?

(A) Isaac Newton

(C) Galileo Galilei

(B) Niels Bohr
(D) Albert Einstein

Q95. Where is the Great Barrier Reef located?

(A) India (B) Australia
(C) United States (D) South Africa

Q96. Which country hosted the 2024 Summer

Olympics?
(A) United States (B) France
(C) Japan (D) Italy

Q97. Which river is known as the "Lifeline of

Egypt"?

(A) Amazon (B) Yangtze

(C) Nile (D) Ganges
Q98. Which element has the chemical symbol

"Fe"?

(A) Lead (B) Iron

(C) Fluorine (D) Silver

Q99. Which country is known as the "Roof of the

World"?
(A) China (B) Switzerland
(C) Nepal (D) Tibet

Q100. What is the study of earthquakes called?
(A) Vulcanology (B) Seismology
(C) Geology (D) Ecology

(13)

Q91. T3 |1 WA U9 Fri1om Wi Ta= =17 8, |

R Hin e 121 3 fer s s &2

(A) ¥¥am (B) FaTe

(C) farem (D) ITEsE
Q92. 3w i <t 7152 71 7 4

(A) T 91 T2

(B) A forpra Ao

(C) BT e A=

(D) el HiT I

Q3. 9 1 TraTafa T 741 87
(A) H:0
(C) CO;

(B) NaCl
(D) Oz

Q94. "amyfres Witfeeht & W F =1 1 Frd wmr s
L
(A) STEHF =124

(B) Hrew argt
(C) refiferdt frefreft (D) 312 AR
QY5. Iz & frw et fem 22
(A) ¥ (B) sieferan

© Hgw T smiE (D) 2w spfE

Q96. 2024 HrorahTei Feifys i f=arh Bz I 6n
(A SgH T S (B) Wi
(C) s (D) T=it

Q97. W 4 Tt fiver Y e v F v § = St
&

(A) 3= (B) Fitest

(€)= (D) 7T
Q98. forer 7o =1 Tramafi fag Fer &7

(A) drar (B) et

(C) Tt (D) =1t
QY. Fra s = "R froa Fm s

(A) =T (B) Rzt

(C) et (D) fo=mm

Q100. Y F T T 791 Fed &

(A) STt faam (B) &9 faam
(C) Wi (D) wftfRufast
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MATHEMATICS

Q101. In the given figure ABCD is a Rhombus in
which £C = 60°. Then AC : BD is equal to

D C
A B
(A)1: V3 (B) v2:1
©1:+2 (D)V3:1

Q102.Triangle of side lengths a, b and c (where ¢
is the largest side) is an obtuse angled
triangle if:

(A) ¢ = a? + b?
(B) ¢ > a® + b?
(C) ¢ < a® +b?
(D) No such condition exists

Q103.The product of two numbers is 24 times the
difference of these two numbers. If the sum
of these numbers is 14, then the larger

number is:
(A) 8 (B} 6
(C)10 (D) 12

Q104. In the given figure ZBAC = 70°, £BCD =
80°, £EFC = 80° and £ABC = 60°. How many
isosceles triangles are there in the given

figure ?
A D
F
B E [
(A)1 (8)2
(€3 (D)4

‘ (14)

Q101. @ s i ABCD Uk wai{st & fovenf £ <

60" . a1 AC : BD AU 2 :

D c
</
A B
(A)1: 3 (B)V2:1
©1: V2 (D)V3:1

Q102. a, b 30 ¢ Y=l ot wams Arent Pl (wref ¢ wad
(A c? = a? + b®
®)c? > a® + b?
© c? < a®+b?
(D) Tl i e wiez 7t @

Q103 3t HEATHY i oAl 59 21 HEATA & S =
24 TAT 1 AfE 3 HEArH F1 A 14 8, @ 9t den
&
(A)8 (B) 6
(©) 10 (D) 12

Q104. & 7¥ FTFfa H LBAC = 70°, £ZBCD = 80°,
ZLEFC = 80° 3R ZABC = 60° ¥ 177§ amsfa &
e wmfzamg P &

A D
F
8 E C
(A)1 (B) 2
©)3 (D) 4
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Q105. In the given figure PQRS is an isosceles
trapezium and PQ || SR | MN. If £SPM = 70°
and £ PQR = 110% then ZPMN is :

P 5 Q

S i
X

(8) 150° &
(D) 100°

A 4

S
(A) 140°
(C) 120°

Q106.Two filling pipes P and Q are fitted to a
tank. P is first opened for half the time
taken by Q alone to fill the tank and then
closed. Q is then opened for half the time
taken by P alone to fill the tank. If the tank
is full after a total of 6 hours after P was
opened then for how long was Q opened (in

hours)?
(A)5 (B)4
(C)3 (D) 2
Q107.Ifx = ;iﬁ then find the value of
+1
42  x+22
x-2 x-2y2°
(A) 2 () 12 +8Y2
(€)12 -8V2 (D) -2

Q108. A certain sum was invested at a certain
rate of simple interest. It took 20 years to
quadruple. Find the time that the sum
would take to become 9 times, if the rate of
interest was 5 percentage points more (in

years).
(A) 30 (B) 36
(C) 40 (D) 45

Q109. Which of the following is the most
beneficial for a customer?
(A) A discount of 40%
(B) Two successive discounts of 20% each
(C) A 10% discount followed by a 30%
discount ;
(D) A 30% discount followed by a 10%
discount

Q110. If (a+b):(a—b)=5:3 then find
(a@® + b?): (a® - b?)
- (A)17:15 (B)25:9
(C)4a:1 (D)16:1

(15)

Q10s. fzumu fera # PQRS U FAfZATE HWeid @ 3 PQ
ISR MN.afz £SPM = 70° 31T £ PQR = 110°
Al ZPMN B
p N Q

ORI
\

(B) 150°
(D) 100°

A 4

S(A) 140° .

(C) 120°

Q106. 2 ffeim argy p 3fit Q ww ¥ # e Fry e & P
F1 9ge 3rhel Q &I & W 1 forg g wwa %
Ty 3 fe wen s & 3 e dg = e
5T Q #1 ¥ vt H 3t P g ferg g s |
¥ for wirer e 21 af P 1 Wi % 912 F 6 92
R & W g & At Q A Fora T % g arenn
T o (52 H)?
(A)5 (B) 4
(©)3 (D)2

x+2  x+242

_ Mz
Ql07.3Rx = ﬁa’t pour-Saeorw

7z T A 19

(A)2 (B) 12 + 8v2
(€)12-8V2 (D) -2

Q108. = fféra uftr amamor sme i v Afga aw
P it oré ofty <8 < €9 3 20 e < TG AR
S 3T 5 WA 3% 237 (3 ) frar a9
AT R H TR I NG T e
(A)30 (B) 36
(C)40 (D) 45

Q109. Fr=fafaa & & 7 @ aes & g sfus
TR 7
(A) 40% 1 F
(B) 9% 20% F1 A i g2
(C) 10% T H AR 30% T2
(D) 30% FE F 1T 10% T2

Quo.aRk (a+b):(a=b)=5:3 7
(a? + b?): (a? — b?) FHA T,
(A)17:15 (B)25:9
©4:1 D)16:1
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Q111. The value of

C TR O

1001 999
(A) o (8) '@E
s —
©) o (D)=
Directions: (Q112 to 116)

Study the following graph to answer the
questions that follow:

NUMEER OF SOUDIERS RECRUITED (IN THOUSANDS)
IN THREE DIFFERENT FORCES IN SIX DIFFERENT YIAR

OArmy OAirforce S Navy

Numbar of soldlen recited
(In thausand)

ev.sCEEEEtEE=sCcIaBa82E

2005 2006 200 2008 2009 2010

[ H)avﬂ,@ |

Q112. What was the average number of soldiers
recruited in the Navy over all the years

together? _
(A) 25000 (B) 24000
(C) 2400 (D) 28000

Q113. Number of soldiers recruited in Navy in the
year 2009 was what percentage of number
of soldiers recruited in Army in the year

20067
(A) 140 (B) 150
(€) 160 (D) 180

Q114. If 30% of soldiers recruited in Airforce in
the year 2010 was female, what is the
number of males recruited in Airforce in

that year?
(A) 63000 (8) 6300
(C) 61000 (D) 6100

Q115. What was the respective ratio between the
number of soldiers recruited for Airforce in
the year 2005 and the number of soldiers
recruited in Army in the year 2009?
(A)2:15 (B)S5:13
(C)2:17 (D)15:4

(16)

ot G- F e,

1001 999

(C)Toﬁ' (D)T
fram-FrEm: (Q112 ¥ 116)
forerferfaa wat & 3w 33 & forg Fraffas mo oy
TG L

Number of 10/ Jars recnutesd
[im thousand )

ewEzENEZS2EESEIIB3338

NUMBER OF SOLDIERS RECRUITED (IN THOUSANDS)
N THREE DIFFERENT FORCES IN SIX DIFFERENT YTAR

OArmy OAiforce 8 Navy

BTV NI e ]
M AT

2009 010

Q112 Tft FuT & v  wiell forg g @i i afmm

gen et 4
(A) 25000 (B) 24000
(C) 2400 (D) 28000

Q113 7 2009 & A& & +weff g At i1 Fe, 7

2006 ¥ & & wefl g Afn i dem = fre
widwra €i?

(A) 140 (B) 150

(C) 160 (D) 180

Q114, 3 ad 2010 7 argdaT 3 weff E1 Tt A A

30% Afeed off, B 38 o argdAT i e e A
et it He e &7
(A) 63000 (B) 6300
(C) 61000 (D) 6100

QUS. = 2005 T e & vl 81 et A T
v 2009 7 13t well 20 et Al 1§61
& i Hafirq 79T A
(A)2:15 (B)S5:13
(©)2:17 (D) 15:4
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Q116. What was the approximate percentage
decrease in number of soldiers recruited in
Army in the year 2008 as compared to

previous year?
(A) 20 (B) 23
(C)38 (D) 33

Q117. Find the remainder when 23! is divided by

5:
(A)1 (B) 2
(C)3 (D) None of these

Q118. The difference between a positive proper
fraction and its reciprocal iszio . The fraction
is:

3 4
(A (8) 5

3 5
€ (0) 3

Q119. What will be the remainder when
(67%7 + 67) is divided by 68 ?

(A)1 (B) 63
(C) 66 (D) 67
2 8 16 10
Q120. Find the HCF Of;, o' 81 and r—
2 80
(A) o (8)5
7 42
€5 (D) 5;

Q121. The greatest number which on dividing
1657 and 2037 leaves remainder 6 and 5
respectively is :

(A) 123 (B) 127
(C) 235 (D) 305
Q122. If 2% = x32, Find x:
(A) 192 (B) 219
(C) 256 (D) None of these

(17)

Q116. frad af i qer & anf 2008 7 &1 wef & 7t

afi A1 wen & e fraa aftema £ 26 g
(A)20 (B)23
(C)38 (D) 33

Q117. 5 231 7 5 & fnnfira P s 2 & Srest 3

&l
(A)1 (B)2
(€3 (D) 78 & #15 TE

Q118. T w1 3fa it 3 3o g F dm

.9
3T E%lﬁ?%:
3 4
()7 ®);
3 5
©1 O

Q119. 5 (67%7 + 67) 1 68 ¥ fonifaa i smu &t

TYEH T2
(GYD (B) 63
(C) 66 (D) 67

Q120.3, 5 -ﬁsﬁtz 1 HEGH FHIGEGS F10 FL
2 80
(A)a (B3
7 42
© 3 @353

QI21. 77 W 72t e & Foredt 1657 31 2037 31
Torrfom = ot sFmrem: 6 3 S S =3 =a &
(A) 123 (B) 127
(C)235 (D) 305

Q122.9f& 2% = x32 Jt x I W T BN
(A) 192 (B)219
(C) 256 (D) FH AT TE
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Q123. Find the area of the Trapezium given in the Q123. form # fu Mg weT T F1 mm%

fi :
igure "
N
\10 7
lf \14
13 14
N
rd
> 25
25
(A) 123 (B) 191 (A) 123 (B) 191
(C) 196 (D) 200 (C) 196 (D) 200

124. fu e fo & g9 7 @ 3@ fifay
Q124. In the given figure find the area of the Q )

circle.
5
3
5
3
4
(A)TT (B) 21
4
(A) 7 (8) 27 (C)4m (D)9
(C) 4m (D) 9n
Q125. In the given figure find the area of the Q125. few o 1 wrrifera 37 1 dawet @ Ffim =

shaded circle where semicircles are T A &
identical: 20

Ny L

20 20 20

20 . 20

A) 60 1T B)80 T
(A) 60 (8) 80 7 (A) (B)
(C)eam (D) 84 ©6am (D) 84T

Q126. Measure of each interior angle of a regular Q126. T Frafia ags & welw it o w1 A ¢
polygon can never be : ft 7ef 2w
0 0
(c) 108 (D) 144 (©) 108° (D) 144°
(18) SET-A/CLASS-IX/2025-26
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Q127. 6 identical small circles as shown in figure
are inscribed in a large circle of radius 32
cm. Find the radius of the small circles:

16
(A) YT

32
(Cl =

64
(B) 5
32
05

Q128. ABCD is a square such that AP = BP, area of
ADPQ =80, Find x:

A _J —Pr B
Q
X
D I— Cc
(A) 8V2 (B) 16
(C) 16v2 (D) 24

Q129. In the given figure, AD = DB, 2DCB =
15% & £ADC = 45° find angle x:

45°¢

A # 0 == B
(A) 15° () 30°
(C) 45° (D) 60°

Q130. If x +§ = 1, then the value of
2 4+ x4+ xb+x3+1is:
(A)-1 (B) -2
1 (D) 2

1  Ere) it
Q131.lfa—;=b,b—;—c,c p a, then

1.,1.1_»

ab ' bc ' ca

(A)1 (8)-1
(€)2 (D)-3

(19)

Q127. 32 @i firan avet v 73 g 1 6 AU B2 g
sifa ) feq my fo % srgam o 7+ A e I

Ao
16 64
AT B)3
32 32
©5 (D)5

Q128. ABCD % af 8 fsr AP = BP, A DPQ &I
AR 80 &, x J1a Ffe:

A

D C
(A)BY2 (B) 16
©)16v2 (D) 24

Q129. Rumu fga ¥, AD = DB, 2DCB = 15° 3R
£ADC = 45° ST x F1d Ffera ;

c

45°

A D B
(A) 15° (B) 30°
(C) 45° (D) 60°

leo.uﬁx+§=1..zﬁ |
X2 4 x4+ x84+ x3 +1 :uRd:

(A) -1 (B)-2
©1 (D)2
1_ R FESAPOLY

QlSl.ﬂﬁ.’a—;—b.b = =C,C c—a,a‘t

1.1 9,

ab  bc ca

(A1 (B) -1

(€)2 (D)-3
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Q132. If two parallel lines are intersected by a
transversal then the bisectors of the
interior angles form a:
(A) Rhombus
(C) Square

(B) Parallelogram
(D) Rectangle

Q133. The difference between the interior and
exterior angles of a regular polygon is 60°.
The number of sides in the polygon is:
(A)S5 (B) 6
(€8 (D) 10

Q134. A polygon has 27 diagonals. The number of
sides of the polygon is:
(A)9 (B) 10
(€7 (D)8

Q135. In a right angled triangle, if the square of
the hypotenuse is twice the product of the
other two sides, then one of the angles of
the triangle Is:

(A) 15° (B) 30°
(C) 60° (D) 45°

Q136. Let ABC be an equilateral triangle. Let BE
be perpendicular to CA meeting CA at E.
Then AB? + BC? + CA? is equal to:
(A) 2BE? (8) 3BE?
(C) 4BE? - (D) 6BE?

Q137.Thevalue of 0.3+ 0.6+ 0.7+ 0.8 in’

fraction will be:

3 2
(A) 2'13'0‘ - (B) 2;2
€54 (D) 53

Q138. If G) = (-3-) then (xy + zw)? is equal to:
(A) (x* +w?) (v + 2%)
(8) (x* +y*) * +w?)
(€ (x* +¥?) (z* +w?)
(D) (x* +2%) (¥ + w?)

Q139. What should be added to
x(x + a)(x + 2a)(x + 3a) so thatthe sum

be a perfect square?
(A) a? (8) a*
(C) a® (D) None of these

(20)

Q132, % 2 AR @Sl O feefes a2y gy

ST & 71 ST FIvl & IR Ty 5.
(A) FRATHH (B) Wi Tty
(€)@t (D) ¥raq

Q133. T Frafira g ¥ ATl I Aty 2t 3y

T 3R 60° 31 AR H 13T i dem 3.
(A)S (B) 6
(C)8 (D) 10

Q134, TH TR 7 27 farapol &) agqa i AT £ ey
&
(A)9 (B) 10

<7 (D)8

Q135. Ak ongst &, afe i #1321 sy
3 TR AT &, T PE FwE Fm 2,
(A) 15° (B) 30°
(C) 60° (D) 45°

Q136. wr i ABC @ wvag Brys 21 efifqu B,
CAFdaaa 2 iR CAR E W i 1o
AB? + BC? + CA? Fuat 2:
(A) 2BE? (B) 3BE?
(C) 4BE? (D) 6BE?

QI37.0.3+ 0.6+ 0.7+ 0. BFIuH

= dwnEm?
(A)Z% (B) 2§
©5= . (D)S-;'-

Qu3s. AR (5) = () (xy + zw)? e
(A) (x* +w?) (y* +22)
®) (x* +y?) (y* +w?)
©) (x*+y) (Z2+w?)
(D) (x% + z%) (y% +w?)

Q139. 39 x(x + @) (x + 2a)(x + 3a) AT

st =Ry fored dmre v ot i
(A) a? (B) a*
(C) a® (D) T F AR
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% 1,1
Q140.1f2% =3" =6 ‘then;+;+%!s
(A)1 (8)0
1
(©) 2 Dla+b+c

Q141. Solve for natural numbers a and b
105-65-45

— ca-5 4 cb=5
600(30242024600) 59 +5
(A)a=1,b=3 Bla=3,b=1
(Ca=3,b=3 (Dla=1,b=1

Q142. A man employed a worker for a certain
work to be done in some days. He pays
Rs.20 to the worker for each working day
and the payment is reduced by Rs.3 for
each non working day of the worker. For
how many days the worker does remain
absent from work if at the end of 120 days,
he gets Rs.560 as total remuneration?

(A) 80 (B) 60
(c)70 (D) 40

Q143. In an examination paper of five questions,
5% of the candidates answered all of them
and 5% answered none. Of the rest, 25%
candidates answered only one question and
20% answered 4 questions. If 396
candidates answered either 2 questions or
3 questions, the number of candidates that
appeared for the examination was:
(A) 800 (8) 1000
(C) 850 (D) 900

Q144. A man divides his total route of journey
into three equal parts and decides to travel
the three parts with speed of 15 Km/h, 10
Km/h and 5 Km/h respectively. Find his
average speed during journey.
(A) 2.28 Km/h (B) 9 Km/h
(C) 14 Km/h (D) 8.18 Km/h

Q145.Ifa + b = 69,
find (@ — 34)*° + (b —35)%° +2
(A)o (B)1
(c)2 (D) -1

(21)

- 1 1 1
Q140.7f2 20 = 3% = 67 A —+ 5 + CF AT

gm 2
(A1 (B)0
(c):%- (D)a+b+c

Q141 WrFfe GEm3Hl a and b T F:

105-65-45 — 5a-5 4 b5
600(30%2+20%+600)
ANa=1,b=3

©a=3b=3

(Bya=3,b=1
(D)a=1,b=1

Q142. U =t 3 e faftra @ 3 fog o #firs &1

forgen o ot o i A ard Qo e am
T W F a6 o 20 79 1 e
it & i far & yers R e & fag
AT i 3§98 i et o St 81 3 A
120 &t 3 ot # e wifea i & =9 F 560 793
fererer & it e forart ol o & sgafea @12
(A) 80 (B) 60

(C) 70 (D) 40

Q143, 9 9=t & U qheqn 9= 7, 5% Iufizand 3 ;ft =1

e fear 3k 5% 3 ol 1 oft 3o 7 feam e
/, 25% IHITANT 3 et T W4 1 I A 3
20% 7 4 WAt 130 feam af? 396 =i T arar

2 Wt AT 3 WAt 6 I o, A wten Ay I
anfdat < e ot

(A) 800 (B) 1000

(C) 850 (D) 900

Q144. T S fth 3T ATAT 35 ot Wt =il <t e i 8

Fernfr e & e 91 sl = s 15
iz, 10 feftder aiv s fefidr B afa a
AT FH 1 Foofa S B g 3 S sa st

WG E ]
(A) 2.28 oty (B) 9 fepdfira=
(C) 14 Fafiezr (D) 8.18 fefi/er

Q145.3f% a + b = 69,

TAF (a - 34)% + (b—35)25 + 2
(A0 (B) 1
©)2 (D) -1
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Q146. In the given figure ABCD is a square. £LMB
= 90°, LM = 2 units & BM = 3 units. Area of

square is:
L
D C
| L]
2
M
3
A u B
(A% (8) =
(€)= (D) None of these

100

Q147. From a container having pure milk, 20% is
replaced by water and the process is
repeated thrice. At the end of the third
operation, the milk is:

(A) 40% pure (B) 50% pure
(C) 51.2% pure ° (D) 58.8% pure

Q148. A dealer sells goods at 4% loss on cost
price but he uses 28 g instead of 32 g. What
is his percent profit or loss?

(A) 9%% gain (B) 14%% loss
(C) 16;% gain (D) 16;% loss

Q1485. A tradesman allows a discount of 15% on
the marked price. How much above the
cost price must he mark his goods as to gain

19%:
(A) 34% (B) 40%
(C) 25% (D) 30%

Q150. The ratio of the number of sides of two
regular polygons is 1:2. If each interior
angle of the first polygon is 120°, then the
measure of each interior angle of the
second polygon is :

(A) 140° (B) 150°
(C) 135° (D) 160°

(22)

Q146. feq ey A i ABCD TF 1 8. LZLMB = o7 1\
= 2 774 3 BM = 3 7% 31 1 1 g 3.
L .

D_J I._. c
2
M
3

A 1 B

81 9
(A)'IB—01 (B)E
© oo (D) T8 A F1 7

Q147. & 30 ATt Th he T 4, 20% T3 F Tt A 7z
T e & 3R g% wfFAT i A ST e )
?ﬂ'ﬂﬂﬂﬁﬁm* Siﬁﬁ,'c;ﬂ e
(A) 40% & (B) 0% T&
(©)51.2% 7= (D) 58.8% &

Q148. T ST AT Hed T 4% Y 81 ST amm F=ar
2, AR 98 32 U % a9 28 T T I Fa

HEGEIR GHOES IR R 2 )
LR (B) 143 % &y
(©) 163 % @™ D) 16> %@t

Q149. T =AY JifeFd T W 15% g2 21 81 19%
TN I & [0 38 st s s e @
fere fores et sifea s @
(A) 34% (B) 40%
" (C)25% (D) 30% I

Q150. 3 Frafta agyst it syt it dew #1377 12
1 AT et TR o Sl Al F 120°R, 7
T TG 6 Wellh AT FI07 1 1T & ¢
(A) 140° (B) 150°
(C) 135° (D) 160°
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Q151. The angle of rotations (rotational
symmetry) of an equilateral triangle are :
(A) 90°, 180°, 270°, 360°
(B) 60°, 120°, 180°
(C) 120°, 240°, 360°
(D) 60°, 120°, 180°, 240°, 300°, 360°

Q152. If the mean of a given data is 56 and
median is 47, then mode is :
(A) 29 (8) 39
(C)a9 (D) 59

Q153. In the given figure ABCD is a Rhombus and
ABEF is a square, find ‘a".

F E
a
A B
60°
D C
(A) 30° (B) 45°
(C) 60° (D) 75°

Q154. A, B and C can do a piece of work in 20, 45
and 120 days respectively. They started the
work together. A left 10 days before and B
left 5 days before the completion of work.
In how many days is the total work

completed?
(A) 10 days (B) 20 days
(C) 30 days (D) 45 days

Q155. If 10 spiders can catch 10 flies in 10
minutes, then how many flies can 200
spiders catch in 200 minutes?

(A) 200 (B) 2000
(c) 5000 (D) 4000

Q156. The average speed of a train in the onward
journey is 25% more than that in the return
journey. The train halts for one hour on
reaching the destination. The total time taken
for the complete to and fro journey is 17
hours, covering a distance of 800 Km. The
speed of the train in an onward journey is:
(A) 45 km/hr (B) 47.5 km/hr
(C) 52 km/hr (D) 56.25 km/hr

(23)

QI51. T wwarg gt % ot & (eif we) &
(A)90°, 180°, 270", 360"
(B) 60°, 120°, 180°
(C) 120", 240°, 360"
(D) 60°, 120°, 180°, 240°, 300°, 360"

lez.uﬁﬁqmmmmsséﬁrzMMR

dl ages o
(A)29 (B) 39
(C) 49 (D) 59

Q153. % mé wrrgfa § ABCD % RHaq & T ABEF
w71 8, 'a’ F1 it

E E
a
A B
60°
D c
(A) 30° (B) 45°
(C) 60° (D) 75"

Q154. A, B 3R C U =W 1 HAT: 20, 45 31 120 &7
H T TFA €| I6M I T A9 TE a0 AT FH
AT A 10 B 72 s B 3 5 T wedt wm g
feam o1 = foeat Tt o g g
(A) 10 & (B) 20 fem
(©)30fa (D) 45 &=

Q155. af& 10 wHfEai 10 e § 10 wfvraal wg a1 &,
AT 200 TEfEat 200 iz % fraet nfvaat e
Hhdt 57

(A) 200 (B) 2000
(C) 5000 (D) 4000

QlSﬁ.mﬁ#miﬁﬁmnﬁMWﬁgﬂ
& 25% iR }1 37 T TR W ww H g
mélaﬁaﬁkaﬁﬁt@m%%@hﬁ@ﬁ
172 3 800 Fdt &) o < e & Jn iy
®
(A) 45 ffiear
(C) 52 fedtregar

(B) 47.5 iz
(D) 56.25 fordfiaa
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o157, faferréa & UH A A, A, B F 120 381 ¥t 3

20 3% 2 FAT & AAB C F1 120 371 % g §
30 37% 2 @1 81 90 % G A B, C 1 frrd 3 3

Q157. In a game of billiards, A can give B20
points in the game of 120 points and he can
give C 30 points in the game of 120 points.

How many points can B give C in a game of FAaT gq |
e (A)9 5% (B) 18 37%
(A) 9 points (B) 18 points (€) 6 3 @3 ofe
(C) 6 points (D) 3 points

from-Frm (Q158-162): Frafafas mftar @

DIRECTIONS (Q158-162): Study the following e AR
table and answer the questions given below:
Classification of 100 students based on the marks o ot 3 ifrd 3l T S

obtained by them in Physics and Chemistry in an e p—
examination
Marks out | 40 30 20 10 0 and SOI{H 30 W30 |20 F[10 g 3w
of 50 and and and and above a7 | T na e =@ w0
above | above | above | above afm |Hfm |dfw | | ofs
fam
Subject 9 12 %0 52 o
Physics 9 32 80 92 100 fram
— —_— W 4 21 66 81 100 |
Chemisty | 4 | 21 | 66 | 81 | 100 AR
FD 7 27 73 87 %
(Aggregate) 7 27 73 87 100 ahaa
Average

Q158. The number of students scoring less than Q158 et AT 40% A 4 i 9T % a1t It 41

40 % marks in aggregate is: HEm e ‘
(A)13 (8)19 (A) 13 (B) 19
(C)20 (D) 27 (C)20 (D) 27

Q159. If at least 60% marks in Physics are Q159. a2 *ifreht F 3= 3 F F foq A F o
r;qu_ired for pursuingd highent" sbtudil?s b‘:n AFT 60% 37 A7 &, o Feed o S i
Physics, hO\.N many st.u t.:nts wu. e eligible e e (
to pursue higher studies in Physics?
(A) 27 (8) 32 (A)27 (B) 32
(C)34 (D) 41 (C) 34 (D) 41

Q160. What is the difference between the Q160. WA fagH # 30 Fe G F FAA M sm ¢
number of students passed with 30 as cut 1 dE 3R Fe e 30 F2 3% d5 F 9
of‘f marks in Chemistry and those passed IV B AT ST T AT & A 41 A
with 30 as cut off marks in aggregate? (A)3 (B) 4
(A)3 (B) 4 ©5 D)6
Qs (D)6

Q161. The percentage of the number of students QiG] Iﬁ'fmﬁm@tm 60% mmmaﬁ C
getting at least 60% marks in Chemistry BT i Hen et Pt 7 A 40% 317 TR
over those getting at least 40% marks in T A BT wE F e s @
aggregate, is approximately: (A) 21% (B) 27%
(A) 21% (B) 27% (C)29% (D) 31%
(C) 29% (D) 31%
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q162. If itis known that at least 23 students were
eligible for a Symposium on Chemistry, the
minimum qualifying mark in Chemistry for
eligibility to Symposium would lie in the

range of:
(A) 40-50 (B) 30-40
(C) Below 20 (D) 20-30

Q163. In how many years will Rs 1800 amount to
Rs.2178 at 10% per annum when
compounded annually?
(A) 2 years
(C) S years

(B) 3 years
(D) 6 years

Q164. One of letter from the word “MOVEMENT”
is chosen at random. What is the
probability that this letter is M?

1
(A)% (e»);1
€3 (D)5

118 i
QlGS.Ifx-—i;— JI,them::-&-xls.g
(A) (8) £

13 17

Q166. If ==+~ + - = 1 then value of

1 L

= T TS :

(A)O (B)1

(€3 (D) 4

Q167. If x = 2 + v/3 then find the value of

x2—4x+2is

(A)O (B) -1

€1 (D) 2

Q168. The HCF and LCM of two numbers are 21
and 4641 respectively. If one of the number
lies between 200 and 300, then find the

two numbers,
(A) 273, 363 (B) 273, 350
(€) 273, 361 (D) 273, 357

Q169. Which of the following numbers always
divide the difference between the squares
of two consecutive odd integers?

(A)7 (8)3
(€8 ' (D)6

(25)

Q162. af2 7r 7ma 2 & #w A 9w 23 o WA A w
U Hritdl % ferg a2, 7 weindt A g F
@A foram i e A 3 6 e
(A) 40-50 (B) 30-40
(C) 204 (D) 20-30

Q163. e i & 1800 75 1 ufer 10% wfa i Az
afiw =rmafa 2t w2178 7o @ i

(A) 2 (B) 3
(©)sad (D) 6%
Q164. 1% "MOVEMENT" # & UF 3747 715fe
(3t = & w1 {1 e v g 2
TE IATM 27
1 1
(A); . (B)z
2 1
(C); (D)E

Ql165. af x—§=175,?h x+£ A FE

(A)i'% E
13 17
© £ (D) £+
a b € _ . 1 1 1
Ql66 ;ﬁq}q:;j-‘-l—%“l m:+ﬁ+:
(A)0 (B)1
©3 (D)4
QI67. 3R x =2 +3 Wx2 — 4x + 2 FIAATAF?
(A)0 (B)-1
©1 (D)2

' QU68. A HEIH 1 HETH FHIEG (HCF) i wrgea

FHE (LCM) 3H9: 21 34641 B1afz =0 3
T HE&AT 200 37T 300 F 1= €, I 21 g 3w
il

(A) 273, 363
(C) 273, 361

(B) 273, 350
(D) 273, 357

Q169. fFafaflaa 1 § 17 & den e 3 amar fasy

ottt 35 ol 5 o 3 ok ) P e 22
(A)7 (B)3
©)8 < (D)6

SET-A/CLASS-1X/2025-26

(3: scanned with OKEN Scanner



Q170. After travelling 80 Km, a train mee;s with
an accident and then proceeds at 7 of its

former speed and arrives at its destination
35 minute late, Had the accident occurred
24 Km further, it would have reached the
destination only 25 minutes late. Find the
speed of the train.
(A) 50 km/hr

(C) 30 km/hr

(8) 55 km/hr
(D) 48 km/hr

Q171. The marks of 3 students A, B and C are in
the ratio 10:12:15. If the maximum marks
of the paper are 100, then the marks of B
can not be in the range of :
(A) 20-30 (8) 40-50
(C) 70-80 (D) 80-30

Q172. An equilateral triangle, a square and a
circle have equal Perimeters. If T denote
the area of the triangle S, the area of the
square and C, the area of the circle then:

(A) S<T<C (B) T<C<S
(C) T<S<C (D) C<S<T

Q173. The altitude drawn to the base of an
isosceles triangle is 8 cm and the perimeter
is 32 cm. Area of triangle is:

(A) 50 cm? (B) 48 cm?
(C) 70 cm? (D) 64 cm?

Q174. A rectangular piece of paper is 44 cm long
and 10 cm wide. A cylinder is formed by
rolling the paper along its length. Volume of

cylinderis:
(A) 350 cm? (B) 616 em?
(C) 1540 cm?® (D) None of these

Q175. Let the largest possible right circular cone
and largest possible sphere be fitted into
two different cubes of same length. Let C
and S denote the volume of Cone and
Sphere respectively, then which one of the
following is correct?
(A)C=25
(c)c=5S

(8) S=2C
(D)C=35

(26)

0170, 80 Frsft 1 T F4 F A, WF 3 e
ardt & v e el o f A 374 fa
mammﬁmmssﬁw%&&wél
afz gz 24 Frifize I 3t 61 75 iy oy o
firgz 1 20 & vgad 23 A nfa @ A,

(A) 50 Ffireizt (B) 55 Fafigz
(C) 30 Ffiz (D) 48 Frafiiz

QI71. 33T A, B3 CH 3F 10:12:15 % siqma iy,

afz G % AAfaFan 3% 100 €, 91 B ¥ 3% frg
e # 1 & A ?

(A) 20-30 (B) 40-50

(C) 70-80 (D) 80-90

Q172. T GHATg P, T a1 3T O 79 1 vftam g

%mﬁTﬁgamam,saria:rémamcqa
e Wm%ﬂ:
(A) S<T<C (B) T<C<S
(C) T<S<C (D) C<S<T
Q173. 0 THfgeg Pyt o TR 7 Wi é <reré 8
Frft & o witm 32 Aeft 21 g = g 2.
(A) 50 co® (B) 48 cm’
(C) 70 cm® (D) 64 cm’

|
Q174. FITS 1 U SATIATHI 2T 44 Tt &1 1 10

it <t }) T F IER A F A T
T e ST 81 SO 1 3TE &

(A) 350 cm’ (B) 616 cm’

(C) 1540 cm? (D) FHEAFE A

Q175. ¥ ftfere i wad 92 dva e 3w wiF e
S UV 7o) hT H TS o of [9= 941 1 192
oo e &1 i whfs € e s we: i ST
T AT 20T &, A e da sR &
(A)C=28 (B)S=2C
(C)c=5s (D)C =35
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INTELLIGENCE TEST

Q 176-179 = Directions to Solve

gach of the following questions is based on the

a
following information:

1. six flats on a floor in two rows facing North and
s;:uth are allotted toP, Q, R, S, Tand U.

2. Q gets a North facing flat and is not next to s,
3.5 and U get diagonally opposite flats,
4. R next to U, gets a south facing flat and T gets
North facing flat

Q176. If the flats of P and T are interchanged then
whose flat will be next to that of U?
(A) P (B)Q
(CR o)T

© Q177. Which of the following combination get
south facing flats?

(A) QTS

(B) UPT

(C) URP

(D) Data is inadequate

Q178. The flats of which of the other pair than
SU, is diagonally opposite to each other?

(A) QP (B) QR
(QPT (D) TS
j Q179. Whose flat is between Q and 5?
| (A) P (B)U
(@R (o)T

Q180. Four different positions of dice are as
shown below. What number is opposite to

PRPY

(27)

Q 176-179 — FHTHT & 339w

frafafaa § & vars v frafafaa e o smafa
&
l.maﬁtzﬁam#ﬁaﬁtgamﬁmﬁ@dﬁam
BERIP, Q, R, S, T 31T U #1 wrdfea frum &)

2. Q 1 3wt feram i 3 q@ ren Wz frean & iz s
FIEATE Y

3. S 3 U = faeofar: e vtz firer )

4. U & et ATt R 1 2fwn et ke fireren & s T 1
I w2 firerar &

Q176. af2 P 31 T % iz 37w § a2 Rusmi ar U &
EUGEIG IR S rAC T o kau Y,
(AP (B)Q
©R oT

Q177. Fr=ferfiaa & & o waitem & 2fior el e firem

]
(A) QTS (B) UPT
(C) URP (D) Data is inadequate

Q178. SU % e 371 it i & forar weke o @

faravtar: fadia 22

(A) QP (B) QR

(C)PT (D) TS
Q179. Q 31K S F wie Fraa Wiz 2

(AP (B)U

©R (D)T

QI80. i Y AR 3ret-rer feaferal A1 zeié mé §)
T 3 % fawlia St bt den iy

PYPY

(A) 4 ()3
(€)2 (D)6
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i e
Q181. Which of the answer figures is exact\:\ljht:n
mirror image of the question figure,

the mirror is held on the line PQ?

Question fgure : Answer flgures :

P ra—o E
e A e

(A)4 (8)3
(€)2 (D)1

Q182. A triangular sheet of paper has been fo!ded
and punched as shown below. How will it
appear when opened?

Question Flgures

AlA|AA
AJA

m @ @ @

(A) 1 (8)2
(3 (D)4

Q183. In a certain code, 256 means you are good,
637 means we are bad and 358 means
good and bad. Which of the following does
represent and in that code?

(A)2 (B)5
(€8 (D)3

Q184. Here are some words translated from an
artificial language mie pie is blue light mie
tie is blue berry aie tie is rasp berry. Which
words could possibly mean “light fly"?

(A) aie mie (B) pie mie
(C) aie zie (D) pie zie

(28)

QI81. 7 291 1 @1 PQ T W@ e 3, 3y

m N
iammmmﬁmmﬁ:ﬁ
e 2

Questlon fgure : Answer fgures .
P
o [E[9
Q
(e e @
(A) 4 (8)3
(€)2 (D)1

lez.m?ﬁmﬁ:ﬁvﬁuzﬂzﬁﬁﬁm%
m%am%mmél@aﬁqzqg%mﬁm
am?

Questlon Figures

A A A A

AlAA]A

(1) (2) (3) (4)

A1 (B) 2
(€3 (D) 4

Q183. G fAifira Fe &, 256 F1 vawa 2 s sy = 3,
637 F1 e & R a7 9§ iR 358 T e e
=t AR g | Prafafaa § & =1 @ wffie

F g AN REH? - (
(A2 (B)S
(O} (D)3

Q184. 71 3w wrar & FTARa %o wez Ry ¥, mic

pie =T 37 blue light &, mie tie T 374 blue berry

2, aic tie %7 37 rasp berry 21 ®vaa: AT

e “light fly™ € weraT &2
. (A) aie mie

(C) aie zie

(B) pie mie C
(D) pie zie
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q185. Which group of letters is different from

others ?
(A) CBAED (B) NHGK
(C) SRQPT (D) TVWYZ
Q186. Find the next number in the sequence 6,
24, 60,120
(A) 180 (B) 210
(C) 240 (D) 360

Q187. A sprinter goes off the starting block for
100 m run and at that instant the second-
hand of a stopwatch had pointed towards
North. He touches the finishing line exactly
after 12 seconds. In which direction did the
second hand point when he just crossed the
finishing line ?

(A) 18° North of East
(B) 18° East of North
(C) 72° North of East
(D) 82° East of North

Q188. Kailash faces towards the north. Turning to
his right, he walks 25 metres. He then turns
to his left and walks 30 metres. Next, he
moves 25 metres to his right. He then turns
to his right again and walks 55 metres.
Finally, he turns to the right and moves 40
metres. In which direction is he now
from his starting point?
(A) South-west
(C) North-west

(B) South
(D) South-east

Q189. After starting from a point, a man walks 4
km towards West, then turning to his right
he moves 4 km. After this, he again turns
right and moves 4 km. Which choice given
below indicates the correct direction in
which he is from his starting point?

(A) North (B) East
(C) South (D) West

Q150. Shyam, goes 5 km in the North from his
school. Now, turning to the left, he goes to
*10 km and again turns to left and goes to 5
km. How far he is from his school and in
which direction?
(A) 10 km, South from school
(B) 10 km, North from school
" (C) 10km, West from school
(D) 10 km, East from school

(29)

QI85. 3wl o1 1 a1 vy it 4 firt B2
(A) CBAED (B) NHGK
(C) SRQPT (D) TVWYZ

Q186. AW 6, 24, 60, 120 ¥ 30l den Fm@ Fifan

(B) 210
(D) 360

(A) 180
(C) 240

QI87. U " 100 Hrew 23 F for qpeendi ==t & @
STt & 3N 3 g SiEE w5 EHS 68 I A
SR AT AT 1 TE B 12 TS F A R
AT 1 oA &1 =1 e FefAfzim e aw A A
¥z ¥ 3 form fam 1 i gemo fram
(A) T & 18° IW
(B) ITA 18° &
(C) 72° qd FIWH
(D) I H 82° g

Q188. 3eTrr o1 T I feram < A 21 7@ @ 21d #HN
gL 25 Hiet wreran 81 i 7 g A e @ S
30 HI werdl &1 36 12, T8 39 e 3K 25
et wreran 1 o g Fram st o AR g ®
3 55wzt Teran 81 37 H, 78 20 3w ggar & 3
40 Hiet =TT 81 37 7 Iu el 4 @ fem
i
(A) aforafim
(C) Jut-ufim

(B) feqor
(D) Zfeorgd

Q189. T fuig & T& 1 3 aTe, W vt ufem i 3w 4
fepalt et &, iRt av anfiedt oi e 4 ot
T &1 59 91, T8 TR & and e @ sit 4 fedi
o 8l R R e @ s e wd et
Zuiten & foredt @@ st yeemmdt g A &
(A) W (B) T
(C) =fier (D) ufim

Q190. T, 3T Tt & 5 forft Iwr it i v 1 333
e At 3R qga 10 fordt e & i R ard
g s foft < {1 7@ e fraem & fred
R 3fit o e &

(A) 10 Fomft, T & gftor
(B) FFa & 10 fmft 3w
(C) 10 foreft, Tt & ufim
(D)= 10 FRaft @
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Directions: Question 191 to 195 are based on the
following information:

a, B, 1, 8, €, ¢, \P, n are sitting on a merry-go-
round facing at the centre. 8 is second to the left
on 1 who is third to the left of a. B is fourth to
the right of y who is immediate neighbour ofn. ¥
is not a neighbour of p or y. ¢ isnota neighbour
of B.

Q191. Who is third to the left of p ?
(A)a (8)y
(o) (D) ¥

Q192. In which of the following pairs is the first
person sitting to the immediate right of the
second person ? :
(A) 3, ¥ (B)B, €
€n,B (D) ¥, m

Q193. What is ¢'s position with respectto ¥ ?
(A) Third towards right
(B) Third towards left
(C) Second towards right
(D) Second towards left 35.

‘ Q194. Who is sitting betweena.and f?
(A) Both € and (B) Both ¢ and y
(C)Only e (D) Only

Q195. How many of them are sitting between y

and B ?
(A)Oor6 (B)1or5
(C)2ora (D)3

Q196. Statement: All Actors are Musicians. No
Musician is a Singer. Some Singers are
Dancers. Some Dancers are Musicians.
Conclusions : '
| : Some Actors are Singers
Il : Some Dancers are Actors
11l : No Actor is a Singer
(A) Only conclusion | follows.

(B) Only conclusion Il follows.
(C) Exactly one of conclusion I, Il follows.
(D) Only conclusion Il follows.
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Q197. Statement: All Clocks are Alarms. No Clocks

are Cuckoos, All Cuckoos are Alarms. Some
Cuckoos are Birds,

Conclusion :

| : Some Alarms are Birds.

II': No Clock is a Bird

lI1 - All Birds are Alarms

(A) Only conclusion | follows.

(B) Only conclusion Ii follows.

(C) Only conclusion 1l follows.

(D) Both conclusions Il and Il follow

Q198-200 - Directions to Solve

Each of the following questions is based on the
following information:

1. Eight trees — mango, guava, papaya,
pomegranate, lemon, banana, raspberry and
apple are in two rows 4 in each facing North and
South,

2. Lemon is between mango and apple but just
opposite to guava.

3. Banana is at one end of a line and is just next
in the right of guava or either banana tree is just
after guava tree.

4. Raspberry tree which at one end of a line, is
just diagonally opposite to mango tree

Q198. Which of the following statements is
definitely true?
(A) Papaya tree is just near to apple tree.
(B) Apple tree is just next to lemon tree.
(C) Raspberry tree is either left to
Pomegranate or after.

(D) Pomegranate tree is diagonally opposite
to banana tree.

Q199. Which tree is just opposite to raspberry
tree?
" (A) Papaya
(B) Papaya or Pomegranate
(C) Pomegranate
(D) Data is inadequate

Q200. Which tree is just opposite to banana tree?
(A) Mango
(B) Pomegranate
(C) Papaya
(D) Data is inadequate
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